CNC-3018Pro




Bakelite :

Bakelite-A

Bakelite-B

Bakelite-C

Bakelite-D

Tool :

——

G ow

;
Wif4

.
@ W5/16

ME M10

=
ST

Wi/4 W3/8



STEP1. Base Assemble

Bakelite-B

2040*300mm x2Pcs

@10*300mm x2Pcs
Slider x4Pcs

Blot M5*20x12Pcs
Bakelite-A

ey
o



Step2. Table Assemble

Bolt M6*12x10Pcs
Step-motor

Nut M6*10Pcs Coupling

Lead screw (305mm)

Bolt M3*14 x4Pcs

Set scr

E

Coupling
Lead screw
E m] O

XK

:_ Copper nut

Completed:

Completed

Top view Bottom view




Step3. Base & Bakelite-D

Bakelite-D

Nut M5 x6Pcs
Bolt M5*16 x6Pcs

Completed & Ubiety:

48mm



Step4. X-Zaxis

2020%380mm x2pcs T

©10*380 x2pcs Lead screw (385mm)

Step-motor
Coupling

) DA | & ‘ Blot M5*20x4Pcs

Bolt M3*18x4Pcs




Step5. Bakelite-C

oL}
-

pm
- Y )W“ )
I

=]

M5*20x4Pcs

Nut M5 x6pcs

Bolt M5*16x6Pcs Bakelite-C

Completed & Ubiety:

48mm



Step6. Sipndle

2020x380mmx2pcs

@10°380x2Pcs \_Lead screw(385mm) o !
% A e N Step-motor

Coupling

N
- Bolt M3*18x4Pcs
Bolt M5*16x6Pcs
m y Nut M5 x6pcs
A}
Bolt M5*20x4P¢s ~8
(Y] X Bolt M5'20x6Pcs
B
Vs

Nut M5 x6pcs

Unscrew the screw,insert the spindle form
below,and then tighten the screw.

Bolt M5*16x6Pcs  Bakelite-C



Step?7. Control board

Nut M5 x4dpcs



Control board port introduction

9|puids

>
)
£
w
S
=
[y
o
-

1030W SIXE TA

lojow sixe gA

10}0W SIXE 7

UsB

1959y
aulllo

Connect Laser module

XY Z limit

Laser 12v
(TTLIPWM 5V)

+12V/Laser







